
Phenoncology I-QED
It is useful to examine some comm QED processes .

There are many import processes, we will concentrate any
a a few . Let as first conside high-uagy mint
pain production from eet anitulation
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We are interested in the upolmized differential

and total cross-sections. This is after the desired
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To simplify themalysis, hit's consider the ultravelativistic

limit
, 55MMe .
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Recall the Madelston variables
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The cross-section is the
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Quark-Afiguch production

From the previous analysis, we got directly the
cross-section for gg-find states . We aby need
to replace

e -> Q
,
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way with mutifying by Na to accord for

Nc = 3 colors.
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In experimet, the 95 find ste is observed as

two back-to-back jos. The fad that the

cross-section for high-augies ca be computed from

o
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We will see that this is a consegunce of a

importat propet, of QCD-Asyupatic Freedom -

At highargins , the photos "sae" through the

Cloud of QC wind dies surrounding end quark .
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